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43 % Kg S4E s H#EAR HERR Fie 2% B BN JAPAN ot
1 PiE b BX 2 EES 32 25 &R 1600 %@ 6000 7625
2 At B8 BX 3 EES 8 200 8 200 B 1600 4 800 32 500 3300
3 = aff BX 3 BHSR  #E 600 32 50 #1600 16 1000 3250
4 HR &N EXK 4 EES 8 200 4 400 8 400 BB 1200 16 1000 3200
5 B ‘Bz BX 3 EES 8 200 32 50 Ei 1600 4 800 32 500 3150
6 =t 5i& BX 4 EES 4 400 16 100 @ 1200 4 800 32 500 3000
7 HE & BX 4 EES 4 400 32 50 @R 1200 32 500 2150
8 AR R EXK 3 GES 16 100 4 400 8 400 HEER 1200 2100
9 Ik BEAX  HREK 4 B B 800 16 100 32 50 16 1000 1950
10 5H Eh X 4 BE7E  fBRE  400 #EEE 300 4 800 1500
11 fic] il fiit SER 4 £ 16 50 BB 400 @B 30 4 800 16 200 1480
12 Ba * BX 1 EES 4 400 32 50 16 200 16 200 32 500 1350
13 =X HE] X 4 BHFE B 400 8 100 4 800 1300
13 e BEE X 2 BHPE  #EfEB 300 4 200 8 400 8 400 1300
15 {ERK B’E BX 2 EES 8 200 BR800 32 50 16 200 1250
15 24 i BX 2 EES 8 200 BR800 32 50 16 200 1250
15 hnigE 253 i 4 EES 8 200 #@Es 600 32 50 8 400 1250
18 AT [EZS BX 1 EES 16 100 8 200 @R 30 32 100 4 800 1230
19 [GEE K EPN 3 EES 8 200 4 400 8 400 16 200 1200
19 E)I (DN 5EN 2 BHPE MM 300 8 100 8 400 8 400 1200
21 UL WE KX 3 B B 800 16 100 32 50 16 200 1150
22 HO RABR GEX 1 £k 16 50 64 13 @l 30 4 800 16 200 1093
23 AE iE S SER 1 [l 4 200 4 200 16 200 B 75 8 400 1075
24 BRE &R E:BN 3 EEY #ER 600 8 400 1000
25  hEH EA EXR 1 EsEi 4 200 8 100 16 200 fEEE 75 8 400 975
26 WHE BEs XK 2 £k 8 100 16 50 16 200 #fEREE 50 32 500 900
27 B RH BX 3 GES 16 100 16 100 16 200 fBEE 75 8 400 875
28 ol &N BX 3 EES 16 100 32 50 16 200 {ERE 75 8 400 825
29 FiE FE BX 3 EES 4 400 16 200 16 200 800
30 BN B X 1 B 4 200 8 100 16 200 BB 75 16 200 775
31 | R’R#% X 1 £ 4 200 #fEEs 300 16 200 %@ 50 750
32 t=H BEX BX 4 B  #@E 600 32 50 650
33 B ®"E EXR 4 ESEY 16 100 32 50 16 200 BB 75 16 200 625
34 /N BX PR 4 EES 16 100 16 100 8 400 600
34 AN i N 4 EEY 16100 16 100 8 400 600
36 & Hk AR 4 e 32 50 4 400 fEREE 30 48 50 @M 50 580
37 xH £ B X 3 Eikid] 16 50 8 100 @ 30 32 100 BB 75 16 200 555
38 z2)1 BA EX 3 Y 16 100 32 50 16 200 16 200 550
39 ng i BX 3 EEY 32 50 32 50 BB 30 16 200 16 200 530
40 /A ®rE EXR 4 ESEY 16 100 8 400 500
40 [V L3} EXR 4 £k 8 100 4 200 16 200 500
40 ¥A EXi PN 4 EES 32 500 500
40 5% & BX 4 ESES 32 500 500
44 B 15 BX 3 EEY 32 50 B 30 16 200 16 200 480
45 WE wE X 3 EsFid] 16 50 4 200 fBREs 30 32 100 #{EE 50 430
46 =LA B EXR 4 EslEii) 64 13 R 400 413
47 on:e] J:3id AR 1 ESEY 32 50 BB 30 48 50 BB 75 16 200 405
48 B BE REX 2 EEY 32 50 16 100 16 200 350
49 EHH & [P 4 BER 8 200 32 50 32 50 300
50 =1 & BX 2 EEY 48 25 BB 30 16 200 255
50 #H BE BX 2 EEY 48 25 & 30 16 200 255




